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CHAPTER OUTLINE:

I. Financial Ratios and Trend Analysis

A. Company Data Over Time

B. Company Data Compared to Industry Data Over Time

II. Return on Investment

A. Significance

B. Method of Calculating

III. The DuPont Model—An Expansion of the ROI Calculation

A. Margin and Turnover

B. Significance of Model

C. Rules of Thumb for ROI, Margin and Turnover 

IV. Return on Equity and Rules of Thumb

V. Working Capital and Measures of Liquidity

A. Working Capital

B. Current Ratio

C. Acid‑test Ratio

D. Rules of Thumb for Current Ratio and Acid‑test Ratio

VI. Illustration of Trend Analysis

A. Profitability and Liquidity Data

B. Return on Investment and Return on Equity

C. Margin and Turnover

D. Working Capital and Current Ratio

TRUE/FALSE:
          1.
When comparing the financial ratios of two firms within the same industry care must be taken by the analyst to adjust the ratios for differences in accounting methods employed by the firms so that the results will be comparable.

          2.
The simplified equation, Interest = Principal x Rate, is used in most accounting  



illustrations because time doesn't usually matter in rate of return calculations.

          3.
The higher the rate of return an investor wishes to earn, the greater is the degree of risk 



she must be willing to accept.

          4.
When analyzing a company, the trend of a given ratio over several years is considered to be more meaningful than the value of the ratio for the current year.

          5.
The equation, Interest = Principal x Rate x Time, indicates that the interest rate charged 



by lenders will always be higher when the time frame for the loan is longer.

          6.
In essence, a ratio is nothing more than a relationship between two numbers expressed 



on a proportional basis.

____  7.
Assume that Investment A of $100 will bring a return of $10 with certainty, while 



Investment B of $100 will bring a return of either $8 or $12, each with equal



probability.  Most people who have $100 to invest will be prefer Investment B  



because it might earn a return of $12.

          8.
Several firms within an industry can often be compared based upon industry average 



ratios that are published in the annual report of the firm whose ratios compare most 



favorably to the industry ratios.

          9.
The DuPont model for ROI is commonly used by financial analysts in order to gain a better understanding of Margin (the return component) and Turnover (the investment component).

        10.
ROI can be increased either by increasing the margin generated on each sales dollar



while holding other things constant, or by increasing the amount invested in assets 



while holding other things constant.

        11.
The DuPont model for ROI calls to the attention of management the need to consider 



asset utilization as well as profitability of sales.

        12.
Return on Equity (ROE) expresses the relationship between the dollars invested in an



entity by its stockholders and the amount that the entity was able to generate in earnings 



on those invested dollars.

        13.
Inventories are excluded from the acid-test ratio because it may be difficult to liquidate 



them quickly at their book value.

        14.
Misinterpretations concerning the magnitude of a trend in a ratio are often made by



investors who do not carefully examine the scales that were selected to graphically



depict the numbers.

        15.
Working capital and liquidity are related because firms with above average working 



capital balances usually have assets that are considered quite liquid.

        16.
The acid-test (or quick) ratio for a firm will always be less than or equal to the firm's



current ratio.

        17.
Land is sometimes considered as part of working capital when it has a lake attached to it 



that is highly liquid.  

        18.
Creditors of a firm are more concerned when the current ratio for the firm falls to less



than 2:1 than when the acid-test ratio falls to the same level.

        19.
When comparing two firms, the one with the higher current ratio will always have more



working capital.

EXERCISES:
	1.
	Net Income = $500,000, Turnover = 2.0, ROI = 16%. Calculate margin, sales, and average

total assets.
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	2.
	Net Income = $60,000, Sales = $1,200,000, Average Total Assets = $500,000.  

Calculate margin, turnover, and ROI.
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	3.
	For the year ended December 31, 2014, ROI = 15%, Turnover = 3.0, Average Stockholders' Equity = $3 million, and Sales = $18 million.  Calculate margin, net income, average total assets, and ROE.



	
	

	
	_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________



	
	

	
	


SOLUTIONS:

	True/False

	
	
	
	
	
	

	1.
	T
	
	11.
	T
	

	  2.
	F
	
	12.
	T
	

	3.
	T
	
	13.
	T
	

	4.
	T
	
	14.
	T
	

	5.
	F
	
	15.
	T
	

	6.
	T
	
	16.
	T
	

	7.
	F
	
	17.
	F
	

	8.
	F
	
	18.
	T
	

	9.
	T
	
	19.
	F
	

	10.
	F
	
	
	
	


Exercises
	
	The following model can be used to help answer any questions related to ROI:



	                      ROI                          =         MARGIN         x                    TURNOVER  

              NET INCOME                       NET INCOME                               SALES                    . AVERAGE TOTAL ASSETS     =           SALES           x       AVERAGE TOTAL ASSETS 



	1.
	Margin = 8%, Sales = $6,250,000, Average Total Assets = $3,125,000

                 16% ROI     =    8% Margin 

              2.0 Turnover

                       $500,000 Net Income             = 16% ROI

              $3,125,000 Average Total Assets 

              $500,000 Net Income  =   8% Margin

                  $6,250,000 Sales    


	2.
	ROI = 12 %, Margin = 5%, Turnover = 2.4      

                       $60,000 Net Income           =  12% ROI
              $500,000 Average Total Assets 

               $60,000 Net Income  =   5% Margin
                 $1,200,000 Sales 

                          $1,200,000 Sales              =   2.4 Turnover
               $500,000 Average Total Assets



	3.
	Margin = 5%,  Average total assets = $6,000,000,  Net income = $900,000,  ROE = 30%
                   15% ROI      =   5% Margin            

                3.0 Turnover 

                $900,000 Net Income   = 5% Margin

                   $18,000,000 Sales    

                           $18,000,000 Sales                 = 3.0 Turnover

                $6,000,000 Average Total Assets 

                                $900,000 Net Income                   =   30% ROE
                $3,000,000 Average Stockholders’ Equity  
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